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LEARN MORE
19-N1013%  25-N1013%  45-N101 47-N101 75-N101
452-N101 452-N101P2 100-N101
452-N31 452-NGP1
453-N101 HB-N101
B-N101
454-N101
50B-N101 3%
100B-N101 3%

tons

19-N101

13,900 A/ni

11.6 ¥—k /m?

22—k /4—2 (20kg)

295
(Btrh#92)

6
olig

EECIr Rl 22.5 X 22.5 X 6 —k 1300 % 300

25-N101 11,000 A/ni

11.5 Y—k/m2

22—k /=2 (20k9)

300
(Birh2.5)

[ELchiRiN] 47 X 47 X7 ¥—k:300 % 300

47-N101 6,200 M/ni
47 77 11.5 Y—k /m?

22—k /7—2 (25kg)

47 Bih _Eiﬂrh/3mm (47+47) X 47 Y—k: (47+47) x 300

47-N101
3.5% /m
I 75%R / 7—2R (25kg)

4,700 M/m
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45-N101 4,900 AB/m
11.5 =k /m2
22—k /7—2 (25k9)

300(B#trh5)
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SR ITN (45+45) x 45 Y—bk: (45+45) x 300
45-N101 3,900 A/m
3.5Y—=k/m

-
~L 75—k / 7—2 (25kg)
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(Bphs)

PYIOPTI 152-N31 - 2
DRNETEIENS (101 - nGp1 800 /i

452-N101P2 6,800 F3/ni

11.5 =k /m?
22 U=k /7—2 (26k9)
452-N101P2 O : 20 ¥—k /77— (26kg)

LYY (95+45) X 45 2—k:(95+45) x 300

452-N31-N101-NGP1 3,900 A/m

gﬁl“’ 3.59—k/m

45 40—k /7—2 (22k9)

45 452-N31-N101-NGP1 3,100 F/m
300 (Btbrh5)
/w% 3.59—k/m
> ﬁ‘iﬁ 75 Y—k / 7—2 (25kg)

75%
75-N101 7,500 A/m
11.5 Y—k/m?

20—k /77— (25k9)

ERIE| (69+69) X 69 T—h:(69+69) X 300

75-N101 6,600 FA/m
3.5Y—=k/m
40—k //7—2 (23kg)
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50=T Erons | 145 x 45 x 7.5 &—hk: 300 X 300
300 (B1hS) 453-N101 5,900 A/
11.5 Y—k /m?

20 ¥—h/7—2 (25k9)
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300
(B3ths)
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400 (B31h5) 454-N101 6,100 FA/ni
109~ /m?
18 U—k/7—2Z (26kg)
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Bths)

100%
100-N101 8,200 A/m
11.5 Y—k /m2
20—k /77— (28kg)

300 y °
(Btme) @194

100 % 25 H—fi—
HB-N101 9,000 A/ni
11.5 Y—hk /m2

22—k /=2 (22kg)

300 (B#trh6)
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150 x 25 #—5— [EEPEm

B-N101 9,100 FA/ni
11.5 =k /m2
20—k /=2 (22k9)

300
(Birhs)

75
&
47x9.5%x6 Y—hk:300 %300

50B-N101 13,000 M/ni
11.5 Y=k /m2
22—k /=2 (22k9)

| Bitsri/473.5m 333mm

%’69,5
30 | 2
(B8h35) %
100X 15 K—4—x 98x12.5x6 Y—k:300 x 300
100B-N101 12,300 A/n
300 (Bih2)
11.5 Y—bk /m?

22—k /=2 (21k9)

6 | Birh/472.5m 332mm

%T 125

300 | ¢
(Bitrh2.5)

100X 15ERY (8D)
100B-N101 9,300 A/m
3.5Y—k/m

10—k /=2 (3kg)

100(B3rM2)

| Bitrh/472.5m 332mm |

100x 15ERY (KB) *
100B-N101 2,400 H/m

6
%7125 104 /m

1504/ —2 (2.3kg)
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